DIVISION AND MULTIPLYING BY 10s (H - SET 2)
DIVISION BY 1000

Name:

Time:

Score:

20160000 == 1000 =

22416000 <+ 1000 =

25647000 <+ 1000 =

20350000 <+ 1000 =

25256000 == 1000 =

20474000 = 1000 =

21421000 + 1000 =

25314000 < 1000 =

29456000 + 1000 =

#50-885000 + 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 2
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935000 = 1000 =

130000 = 1000 =

502000 -+ 1000 =

936000 - 1000 =

933000 = 1000 =

287000 = 1000 =

308000 = 1000 =

630000 - 1000 =

572000 <+ 1000 =

804000 =+ 1000 =
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